LS4 —3I 7 A harz ) — MELSEEE

No.

20254 4H 1H

BMAert =h - 7— s o—

& fn L
Bl 44
T~ F % ™
Pt 1£ Hh
WA T oE B
P
3y ))=b DFTIA L& P
P, = ) X it ES 1
a7 ) —brD N A7V7 XAXA7/7" o= | MLUE B O e K~k TV M OFEIH
SO 5| FEFHIC K DAL — cm mm I L D5 E
So Rl 24 8 40 BB
%Eﬁzf Y b o FOE MOV H L2 R R NS MOV L2 R
= , L =1 7’/1/7’3)/17‘3}5\5“
%é@% Moo M i R EHIZ TR m o % W o T & BB
BN ISR KBRSy il AT EHIIZ FR BE))- O BN ERE & — kg/md
EhidEay ) - O s ERER 515 BRI - JEARSRIE 227 ) — b0ORE —C
ﬁ@;m ) il ¥H o FAA AR L2 Tk A MR kA FEED HR 60 %
%ﬁﬁﬁﬁﬂw@@ﬂ%ﬁ%ﬁ%ﬁ%ﬁ%ﬁ%ﬁmﬁﬁ%ﬂ*;@Eﬁﬁ@ﬁ@ — ke/md
HE-M Ok W & A B — ke/md UAF | B0/ B0 REED FROULREED LR — kg/md
giﬂﬁf %E”E?L € Hi — 50 HEBEDAT /TRIIAT 77 n—DfiKE —cm
& H iz Bt
ﬁ}//Héﬁﬁ%ﬂEﬁkWt%/kﬁﬁAﬁ (5% g/ci | 3.04 NasOeq % | —
(m*ﬂ*ﬁ@ 0 E £ — T 5 —  |Naz0eq —
" ; ] . PROMEIL AR PRI DK & SRR T | B g/en | B0RI ) é@
pfo B M B X ke S S
HO| ferb Ky WA R R HIT AlbEE SmuPk T 2.75 | 2.61]2.65| 7.0%£2.0
B @\ i) L e T R HENT /N2 W AlFELZ L ASA—E Bl T 2.65 |2.56]2.59|3.5%1.5
Z1®) — — — — — — — — —
| O eF HAETHEMENT /N E (1505)  |AFEAH AN—E5~15 58 2.61]2.63] 1.0+1.0
o (O EAT HURE BRI M (2010) | A|E/VHZ/L/8—1510~20 58 2.61]2.63 | 1.0+1.0
HOs WIRNETEMENT/ NS H (4020) |APFE/LH LR —1420~40 60 2.6212.63| 1.0+1.0
@ — — — — — — — — —
RFAIO 7a—Yvs S AEJR K IR AE T F NewsO o 0.6
TR Fn 75 @] i 4, - T K — o K —
?Eé%uﬁﬂ@ — — ? —
BEMOSthE | — %K OFEEE  [HITK - BEAK] BERTyY BYR — %
@ﬂz MoBRLE W B M — HOH M - K79Y KO —
i & = ke /mi
. HE S 7§ A = iz HH = izl b A bail
=
s Te X ToTeo e lol@elo @ 010 0
267 — — 156 331 | 489 — 261 | 313 | 470 — 2. 40 — —
Kt AL b tt 58.5 % | /K #E £ M K — %M B 44.2 %
s BHOBERAHA, BRAOERZIOWTE, WA LERTA5A802, | BANES L B HMO:© 40.0:60.0
¥ HEMD:@:@  25.0:30.0:45.0

EERERER A & LRI 35 A oM,
HH6H1H~9HA30H +10~+20%.

IRANAIO O HALED AL H
AMI2H1IA~2H29H0 —5~-15%




Bl & 5 B E
Aic = D B4 it ES Gs
=Y ESRN) N 277 XATATV7 Tn—- B M O K~THE AN OFESA
O 5| FRFEIC L DR E — cm mm P RNk
EL St 24 8 40 BB
%‘éjj? v X v b O HE MK FEOG AR R W E M o & K & FEOG I Gl
| ¥ I 7’/1/7’7)/U7‘3Jiﬁi
%E\ H Mo oo M 55 A B L Fr WO x E o b BB
BRSO HRZ L DXy AR B I FEER RE)) - OB ABEE — kg/md
Sty ) - D R EE R ER T VE BT8R A« TERRTR A o7 Y — ~ oiRE —C
i‘éj@ 7K D & 5 {5 A EHR L Go KEAY MERD/ AV BERD HR 60 %
o (A FhoD B B OV A A PP B OV 20 A L BV A > H 8L o0 1 — ke/nd
m-E Ok W s A = — kg/md LA B B0 BERO FRUIBEED LR — kg/nd
g{t()\éﬁf” iﬂf'ﬂ#éﬁi 750 HBEDAT /TRIIAT 7 7 n—DfikE —cm
(1) ZdfrE(v) YTHOEFEICEY v =80 %
(2)EE58E (m)
_ 1-SL _ 2
mi = 2.6 = 30.3 N/mf
100
X->T m = 30.3 N/mf
(3)/kEA L FEE(W/C) m = -13.2 + 25.5 X C/W
W/C = 25.5 = (30.3 + 13.2) X 100 = 58.5 % = [60% (_E[Rf#) ]
S.W/C = 58.5 %
(4) K& (W) VTHOFEFICEY W = 156 ke/mi
(5)HpNrE A FE(C) C =W = (W/C) X 100 = 156 = 58.5 X 100 = 267 kg/m
Cv= C + B = 267 — 3.04 = 88 2 /m
(6) %2558 (A) A = 4.5 % X 1000 = 45 £ /m
(7)) HENCHEME(G) HBTLHOFEEICEL » éﬁﬁ* = 0.661 m/m EEE =60.0 %
Gv = 0.661 X 1000 X 60.0 = 100 = 397 £ /mi
G = Gv X REEE = 397 X 2.63 = 1044 kg/m
Gl = G X 25.0 % = 261 ke/m
G2 = G X 30.0 % = 313 ke/m
G3 = G—GI—G2 = 470 kg/mi
(8) ALK £ (S) Sv = 1000 — (W+Cv+Gv+A) = 1000 — 686 = 314 £ /mi
Slv = Sv X 40.0 % = 125 2/m S1= SIvXEWEE = 125 X 2.65 = 331 kg/m
S2v = Sv — Slv =189 ¢/m S2= S2yXEWEE = 189 X 2.59 = 489 kg/m
(9) B = (s /a) s/a = Sv = (Gv+Svy) X 100 = 44.2 %
(10) HpRFfAE (Ad) Ad = C X IR X ZEE = 267 X 0.900 % X 1.00 = 2.40 kg/m
i A& £ ke /mi
. T 7§ b T 1z FH T iz e fn Vil
s Te X lolelo 0lo 0ol 000
267 — — 156 | 331 | 489 — 261 | 313 | 470 — 2. 40 — —
RSN JATRER . .

ksl




